Beef Carcass Evaluation

	ID
	Example
	1
	2
	3
	4

	Carcass Weight (pounds)
	650


	
	
	
	

	Maturity (A, B, C, D, or E)
	A
	
	
	
	

	Ribeye Area (Square Inches)
	12.6
	
	
	
	

	Fat Thickness (inches)
	.4
	
	
	
	

	% Kidney, Pelvic, and Heart Fat (1%-5%)
	2.5
	
	
	
	

	Marbling
	Small
	
	
	
	

	Quality Grade
	
	
	
	
	

	Yield Grade:

   Fat Thickness=base   

   YG
	
	
	
	
	

	   Ribeye Adjustment
	
	
	
	
	

	   KPH Adjustment
	
	
	
	
	

	   Final Yield Grade
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ID Example 1 2 3 4

Carcass Weight (pounds) 650

Maturity (A, B, C, D, or E) A

Ribeye Area (square inches) 12.6

Fat Thickness  (inches) 4

% Kidney, pelvic, and heart fat 2.5

(1% —5%)

Marbling small

Quality Grade

Yield Grade:

Fat thickness = base YG
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1. Starting Yield Grade 2. Ribeye Adjustment 3. % KPH Adjustment
Fat Yield Grade Weight Ribeye % KPH YG Change
g o0 550 704 5% -4
2 25 600 11.0 *2.5% -2
3 2.7 650 11.6 3.5% —
4 3.0 700 122 4.5% +.2
5 32 750 12.8 *average for most carcasses
6 35 800 134
-; 1315 850 140
9 49 +1.0"= - 3YG
1.0 45 -1.0"= + 3YG
Beef Quality Grades
Meing - T e — : Fat Thickness Maturity
Soomiymt | PRIME A = 9-30 months
Moderate COMMERCIAL B =30-42
Modest CHOICE C =49-72
— D = 72-96
E = > 96 months
Slight SELECT UTILITY
Traces | STANDARD 12th - 13th Rib
Pretioslly CUTTER





1. Starting Yield Grade   2. Ribeye Adjustment   3. %KPH Adjustment   4. Scantron Coding
     Fat 
       Yield Grade            Weight      Ribeye              %KPH   YG Change         

      .1

2.2

550
  10.4

 
1.5%
      -.4

.0-.3   High
      .2

2.5

600
  11.0
          
           *2.5%
      -.2

.4-.6   Average
      .3 

2.7

650
  11.6


3.5%
        0

.7-.9   Low
      .4 

3.0

700
  12.2


4.5%
     +.2
      .5

3.2

750
  12.8
    
 *average for most carcasses
Example:
      .6

3.5

800
  13.4





2.1    High
      .7

3.7

850
  14.0





2.5    Average
      .8 

4.0








2.7    Low
      .9 

4.2

+1.0 = -.3 YG
      1.0 

4.5

-1.0 = +.3 YG

